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Notice

Read and understand these manuals before attemptingany un-
packing, assembly, operation or maintenance of the inverter.
This manual should be applied only to HiD500 inverter.
This manual dose notinclude all items regarding installation and
maintenance procdures.

For more information, please contact authorized

parteners.
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T cooling
U air outlet
oo 4 10 (oM — Q
- N 4 N
A,
=== S==
(& o] & A
Fla - S -
[
A c?oling J)
air outlet <
£
B v
N— N—
—
— | G
® @ =
gmmj
\_ﬂ\_%_f\_/ —
o ls i
cooling
T air inlet
1311 M%) 27 - 2+ 9
A. QHH FH o f St B. 7HH|R = QIHEZF 7 S2¢
C. QOHH &8 of 3¢ D. I H 5t8 ol St

FR1 20 20 100 50 0.8 0.8 39 2.0
FR2 20 20 120 60 0.8 0.8 4.7 24
FR3 20 20 160 80 0.8 0.8 6.3 31
FR4 20 20 250 100 0.8 0.8 9.8 39
FR5 20 20 300 150 0.8 0.8 118 59
FR6 20 20 350 200 0.8 0.8 138 79

25 (X)) 2t4 24

D= ™M@ AO0|=28 &5 2dS 1{5tH K.

FR1 48 28

FR2 100 59

FR3 200 118

FR4 250 147

FR5 470 277

FR6 850 500
H64Z 372
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l , I 5203 7|5R+R)S
o

FR1 ~ FR4 7}X| x|

a3 12 Fo AZ cro[of 13y
A HO Djd (HMI 7|Ij E)
B. X O FX|
C. M &K

L= O

4 LHE-E0| +70°C 2 #0|=2 O|83tM K. == 20|22t ¢ F 0|22 E25HM K.
Et = =
= —

Aol 9 Fx M Al E2fo|=o] Y2 £ MRS HIGHIL. B F HRE YTAA
&g + AUk

FH0l= 1 1 1
oH # 0|8 3 2
Mol A ol= 4 4 4
*C2 550 2ot 3%, YT AU 25 AH AHE0| HFELT
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3. 28 HUEA B ZX7 Qs tfE Hel AHo|2. AHoj2 MY AL HA (1.30MH2)E ArH
100mQ/mE HEELICH EMC C2 3o 22, 2E o #Ho|2 STt i 360° T 23
X7t WaCh

4. H= XtH 2440 = By A0S, 84 2= 60°C 0]y el 32

4SH A2Y (PVC HE U, 38 X PE ZH)7H AHFEHY)
. Aojgzoz SBELICL PE =HE PHEA|l EN 61800-5-1 (K]
435479 92 BIEOF BLCL £ BN FY N 2

PE

MHE H=otM 8.

AHZE 34 MMt 34 PE PZHM7Zt e iE XtmH A0,
XIHE HHEA| EN 61800-5-1 (M| 4.3.54%ZhHo| @HS Qr=s|of
|.

SLCh 2 2Mo| HA/ X XS 22 MHE HEoHM 8.

ANHZ 3¢ MEM 5o PE MEMIE e thE XH #HOl=.
Xtm 7} EN 61800-5-1 (F| 4.3.54%)9] 7S UEFSIX| U= FL,

2 - 3 [k
48 PE MEXN7t RFELCHL 2 M| A/ Z X/& 22 MHE
EZRSHM 2.
AHZ 34 MEAet HEC2 M= PE MEX7 e CiE K|
70|&. PE MEX|= HtEA| EN 61800-5-1 (N| 43.54%Ho| @HE
THES|OF TLICE 2 BMO| A X A& 22 HEHE HISHM 8.
E‘ - X 0f A o|&:
T4 ~ O|& Xto|
4
-Fl'z e
'j:-ﬂ"fﬂ‘ Eh Kt
J3 13 A HHY 9 EM AHO|E
DE ZYH UMM EMC RUS F5H7| Qs A9A Futso| 7|24f2 O|85tA 2.
o™ AKX E XSt A2, HO|2 AEEH 27X EMC 237t X| £ E| =X 2QI5HM 2.
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Aolg Klst % M
O XIF2 ZH 1742t A 0|5 17|2 AC E210|ERH RHE AZdt= 180 ot =Lt 7|E
2L XtMet SE = M==AY Z2[oHM K.

740

Ct2 X710 ¥

bl

Aolg U 7= A7
FZ 79 9G/gl (IEC 60269-1)2 HAESILICEL F= MY A ME A, =HIAS HXSIN L2
#Z 80| M HESE 7= A7|ECH 2 F=E AFESHA| O |.
BX SX AZt2 0428 @YIX YEZ MFVLUCL S AL FX 9 L 33 829
U HAQ} AX|THL|CL Lt HE F= 23 AT HE= HZA 22|5HM Q. MZEAUAME L&
aR (UL 91, IEC 60269-4) U gS (IEC 60269-4) == Q| rESt RIS 2 Q& L|CH
HO|= AC E210|Eot 2| At = U= LEHH QI Aol 27| B! FYE LIEtLE J}ESLICL
HOlZ MEi Al, HX| 7, HO|2 X = U AHO|2 AHYS HESHM R
H 8 HiD500 A|2| =& #0|2 U Ex 37|, T 208~240V U 380~500V
F= F=Mel, nE g E{0]'d #o|E 37|
» 220v3 440v3 ” it 2 ——
= (9G/gl) |Ho|a M&7|* (=M AHo|g | Xl Ho|2
29 [IL[A] | 2" | IL[A] [A] A olE Cu [mm? |E{o|'d [mm?] 37|
0003-2 | 37 |0002-5 | 26
1—6 GtM
0004-2 | 48 [0003-5 | 34 6 3x1.5+15 M4
1—4 918
0003-2 | 37 |0004-5 | 48
FR1 [0007-2 | 66 |00065 | 6.0 1—6 CtA
10 3x1.5+15 M4
0008-2 | 80 |0o085 | 80 1—4 AN
0011-2 | 11.0 [00095 | 96 1—6 CHM
16 3x2.542.5 M4
0012-2 | 125 [0012-5 | 122 1—4 AN
; - |ooi6-5 | 163 20 3x6+6 1—10 Cu M4
- 0018-2 | 180 ; . 25 3x6+6 1—10 Cu M4
0025-2 | 250 [0023-5 | 23.2 32 3x10+10 1—10 Cu M4
0031-2 | 310 [0031-5 | 310 40 3x10+10 2550 Cu M4
- - |oo3s-5 | 380 50 3x16+16 (Cu) 2550 Cu M5
FR3 [0048-2 | 480 |0046-5 | 46.0 63 3x16+16 (Cu) 2550 Cu M5
0062-2 | 620 [0061-5 | 61.0 80 3x25+16 (Cu) 2550 Cu M5
0075-2 | 750 |0074-5 | 745
100 3x35+16 (Cu) M6 M6
FR4 [0088-2 | 880 |0090-5 | 903
0116-2 | 116.0 [0106-5 | 106.7 125 3x50+25 (Cu) M6 M6
0146-2 | 1460 [0152-5 | 152.0 160 3x70+35 (Cu) M10 M8
FRs  [0170-2 | 170.0 |0170-5 | 170.0 200 3x95+50 (Cu) M10 M8
0220-2 | 2200 [0223-5 | 223.0 250 3x120+70 (Cu) M10 M8
e 0261-2 | 261.0 [0264-5 | 264.0 315 3x185+95 (Cu) M10 M8
0310-2 | 3100 [0310-5 | 3100 350 2x3x95+50 (Cu) M10 M8
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Aols 2% =H[oH|
A0 M AC EE2LO|EO] BF LXOf F7|7t S 2X| @A 2olst . o8 MEO| A= BLE
FoHA geM .
2 E AO|=0] 7|Ef CHE Aol el BOM A=X| =lstM a.
2H AHO|S2 BEA| CHE A O0[&1 90° Zt =2 WXtE|0{Of SHL|Ct.
tset B2, ZH AO0|=S CHE Aol 2 Ed22 =X 04 8.
ZH AO|=0| BE Aol BHo= |l 24 S X7 R (& 10 Ao/ 2t H= 21
x

0

o
rir

o
70:‘_|_l

|->I-

71742 2E #Ho| 21t 7|Ef CHE AlAHQ| M Ao 7| T SuE LT
XHH 2E{ #0|22| AT} Z0|= 100m / 328ft (FR1O| Z L), 150m / 492ft (FR2 Q! FR32| Z
200m / 656ft (FR4, FR5 5! FR69| A L) ! L|LC}.

AOlE 2 O|f S =&QIsi0f ot= 8%, A0/F X 26 FA & EH X HS F=5HM 8.

29 #Hol= 7 2| & 7g|

AolE Zt HEl [m] | X5 Ao|& Zol [m] | AHlOIS Zt A2l [ft] | Xxi= AlolE ZO| [ft]

03 < 50 1.0 < 164.0
1.0 < 200 33 < 656.1
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Aol 2%

FR1 ~ FR3
1 ZH AOlE, =HH A0l A 220|3 H&7| A0l =5 MAHSHAM K.

E 10 #|0| = u|&E HAH ZO0| [mm /in]

FR1 8/032 30/12 8/032 |30/12 (8/032 |30/1.2
FR2 10/04 50/ 2,04 10/04 |50/204 |10/04 |50/ 2,04
FR3 20/ 0,81 50/ 2,04 20/081 |50/204 (20/0,81 |50/ 2,04

*G HAM BE H2 Jhse o BA gL

13 14 A0l PE e w
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2. CElo|EO| 3HE F{H{ 2 JHutstA L.

3. AHOlE HH | LIAFE S0{H

ot
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o
18
M
T
ujru
AT
L]
o
I~
il

4x14 tapping screw

a8 16 Aol #HH =2

4. 02002 Aol g EOIES V&R0 sELICH
1217 of = P21 2 Z2810| LIEfLE JXELICE.
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5. FA0l=(1) 2H #A0]=B) & &4 E&|0|3 HO0|=2@2)2 Holg Y+ S20IES 70
sa1ch

J8 17 Aol &+ E201E

AOl= XtH| & FA 2H-Z(A)E MM K.
AOlE1t A0l T S20|EE E2t0|2 Zgj|gle] AR E0 24 8.

2EE AHOol22 HESHA K.
A. 371 A0lE FHM e AEHE =EAIF AHOlE XHHE YA SY-Z@)2t 3602 AZSHM L.
B. FAHOl=2(M)zt 2H AHOIEQ)e =X X E0]2 M| AH0l2(2)2 H=HE Hetet

EjO2 0l AZBIA L.

C FAol2 212 MAM S0 LA PRI (RAE 2L &F). 2 Ho|=29
HXI(G)2 "X oo 253148 ().

D. 0|F M7t Tatt AL, o HAME)0| HA| Hiet AZE 0] Y=X| SIS, HA X
X2t & MEHE &XSHA L.

EE. H 11 SHIE HZ4 EJE &X5HM 2.

9. HXMO| Oz Al¥cls @E E{0jYat A7 o] YK OB K.
10. #0|2 Wrjel Sato|e YIS ChA| AT
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L1213 DC-DC+ R- UV W

AN VT
P00 ¢ 7 7

211

e
my

HZ 53

FR1 1 9 15 133 2.0 18

FR2 2 18 15 133 2.0 18

FR3 10 90 15 133 2.0 18




FR4 ~ FR6

1 E2H Aols, FHE Aol2 8 280[2 Mg7| #|0[= T5S H7IMa (FR4 E S4, FRS-
FR6 2|5 =4).
# 12 A|0|£ T 5 M A ZO| [mm/in]

FR4 14/056 | 60/24 19/076 | 55/22 19/0.76 55/22 *
FR5 20/08 | 125/ 5* 25/1 |175/69** | 25/1 |175/6.9** *
FR6 20/08 | 125/5* 25/1 |175/69** | 25/1 |175/6.9** *

G ZGRIM. 2E 2 ks o Bl gL
* FR5-6 1P20 ,
N gt2 2X| oteto| g0l et Tt2, 25 27~285 HZESHM K.

Z=MLl DH

13 19 PE Al012 e
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AC C2}0|E F{H|Z JHEISIA| Q.

YIZL e F2 HOE AHH
=]

= =29
Q|7 A 7 (FR5-FR6 IP20)

12 20 FR4 IP 20
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% 21 FR5 1P 20

a2 23 FR6 IP20
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% 22 FR5IP 00 / 71t
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FArairavinnRvnvi

Naii N

°BU = u_e\ \'\' ‘i;e:“'i

J T T T e b 1 T 1112 13 DC- DC+ U V W
B /g? 2w 111213 DC-DC+ UV W |
] E =i

L,\ ILI[—T)J g L) i’—n_l“ A

|
-

3. M AOlE 5 AolE D)o Helet 27|z LHAAH FREELCL

Fo|!
e Al &2 XY A0l HE 0|83t a.
HA EE= 5% FEQ)E 0|83 70|22 215 T7|2 E2[A7|M Q.
70| 2| X[CH LH|: FR4 17 mm
FR5-6 30 mm

ARl

FRS-6: 3t E{O|'20] B3 # 0|28 0|3t= 2L, Aol2 21S K22
doMa. a8 19 #4550 = E AHolE SHZIL 5 &5t= 2|0 A 0|2 K&
40mmE EXSHAN 2.
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« FAH 023 2H #H O[22 4=HE SHE HOIZ0| HZYLCL 20|13 Hg7| HolE2S
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« 2|F ZR|M0| AE FA| Hret HEEO A=K 22ISHA K.
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e 1 13 SHIE HZ4 EOE &X5IM L.
371 AHol= FH | Of X} |§ =EAF AOlE AHE X SUIZB)F 3602 HZASHM Q.
a2 AHol2 S- =YL A= F HO|E B2t A0|2 /Y 8fA I (FR5-FR6 IP20 / 7 1 H{THO
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Mol ZX AHolg2 EXISHK = dR0= Fa F7H HEHE CHA| 25 . 8K g2 4%
Mol ZX Aol MHE HXSHAM Q.
Hx|Mo| ©= Mdele e U EOjdnt: AZE 0 YLEaX| olstMa



B I3HZANZ E3

FR4 3 26 15 13 5 44
FR5 30 265 2 18 15 132
FR6 30 265 2 18 15 132
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A A HESRZ L 2%

1.

AL ®X| o= HID500-3L-...-2 A|2|= E2}0|E (FR1 ~ FR6, =M Qt 208~240V)E 0|t

= AS UL

4 ™X| &0j|= HiD500-3L-..-5 A|2|= E2}0|E (FR1 ~ FR6, =X 2 380~500V |
UASLICE O] B2, EMC B3 2SS EMC B (HI 1-2)8 M A5 C47tX| HZsHOF
|Ch DX o™ A|AHO| EMC EH FHIHAIEE Saf XA Telof HZAEL L Ol=

sf =2to|2 7 & E L

IT A|AE L A1 XIAAE S HZEBHA K.

i
o

el I T

IT A28 W EX|
ZH Q0| IT A|ARIQl ZQ, AC E2t0| 2= EMC 23 20| BHEA| C40{0F $HL|C} E2}0| = EMC
2o #0| C2 & C3Q F%, C4= BHPo|of SLICE EMC HHE Mo HESIM K. IT AL 8 LY

C4 28t MZF2 B2 2t 2918 Fhts= 7|24t 2kHz2 H|etE LIt

E2to[= 9] EMC 20| F=otX| &Qlot £ AC E2I0|EE TR0 HZSHA R
EMC 20| FetotX| o ® E2t0|2 &4 of7|g = ASH
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FR1 ~ FR6 EMC 1
AC EZ2I0|E EMC E5 & C4 THA 2 HESIN .
1. AC EZI0|E HHE 7SN R.
2. FRL, FR2 Sl FR30| M #[0|= HHE M AHSIM 2. FR4, FR5 2 FReO|AM HIH B/ £
HASHM 2.
3. RFIZHZE X|0af AZASI= EMC 4 E 2 5o M Q.

%! 31 FR1 EMC 7{4H %! 32 FR2 EMC H4YE{ (M4x10 L}AL)
fee.

EMC Jumper 1 (AC) 8

’v' ;Q';“:"X‘"\ \
EMC Jumper 2 (DC |\ =—< %~ N A

12! 33 FR3 EMC 4 E| (M4 O|EF AL 0] A)
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13 35 FR5 EMC 7{4E

13 36 FR6 EMC 7 4lE

4. RFLEHE X[HOM Z2[ote{H =& 0|88 EMC HYEE M7oHM K.
5. B 20= "MEF 8" 2HEo "EMC 2 HZE"0l2ts 2ot EME 7 YStM . Of I
SHEO| REE|0 AKX oW FE 2K =2t0|20f 2tAS FA L

6. FIE HHE CHA| E2M 2.
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Hlof A

Mo &K 2E
AC E2tO|EQ| HOf ¥Xl= FHO 22 X M HEE ZEYLICE S8 EE= MO HEQ
% |- 0:|7:IEI |_| |:|-

A HE /O AZ& MO HOIE

B Ethernet &1

C. ggjlo] =3 (274)& Ezfol Hold

D RS485 E 0|4

E. RS485 HA FEHE T

F. STO(Safe Torque Off) FI AHZA K| X 7|2 /A

G

SMEE

a3 37 Mo FX| &=

AC E210|E2 Hof FX= #F MO AHHO|AE XL CL 8 BEEE HEf 7|52 =23 =
A 22l5tM 2. e ol #& HO|E & &

|
=

UG LICE XEMR X|A[AtEE 2 SIX| SO T2 2lof
old}

PEfM 23 OAIE = &= UAS UL
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HMI 7|1 =

HMI Z7|THE(1)E 915 7FSAE|o M etdetez 20 S
MASED ditf =2 2 CiA| EX[" = JASHCEL UE HEYHQ)E
HMZHSHA| OFA 2.

E2to[2 ¢Ef LEDB)= =2t0[E2| HEfE LIEHLICH HEf LED=
7|TH= otz Aof D20 AX|SHH, 37kK| 27| THE SEIE LIEtE
= UASLILE

H 14 =2}0|E ME LED2| AE|

LED 2}0| E A4A} Eajola el
M EE =H| / &X|
= Al 28 5
X AH =ZE

Aol BX| #H 0|2

HFE /O EE0= 178 Ao HO|'d 24712t E2f|o] HO|'2 6747t A&

28 Zl= GJO/EH MEHOIM MOl HX|el #F HZ21 M2 4FZ B =
Hof 0|2 Ak

X of Aol K| Z|A 0.5mm22| Chal Atm| #|0|=0[0{0f & L|C} #|0|5 FOo| 2ot 2Ot XpA|SH
W82 # 13 24H/E 7|0/F MEE BXSIN L. HO|'E 2t0]0{= | X|S0| 1.5 mm? O| ALY},
2a2fo] Holg A 7|Ef HO|E2e| E AWG140{0F BfL|Ct.

B 231 Ao FZ0f

E 15 Hlof #lo|2 HZE ES

HZ E3
E{o]'d E{O0]'3 LIAL
Nm Ib-in.
/O HE g9l g0
= 2E0] M3 05 45
BHEOo| MK EHOlg

Mof efojd
C2e HEFE /O EEo| E{O|dof sl 7| 2XQl L|8S M3t HQL|CH ECF XpASH HE = 10/
gZof 22t 7=z G/o/H BHE EXSHM K.
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¥ 16 E{O|d HjX| M

A s a9 9 7l 4y

HS o|&

8 +10Va +10V 7| ot =2 Z0}4 up/down 1 ~ 10kQ
9 AV A9 obE 9 Fo4 X3

10 GNDa ofgza dgtec

11 AIC AE Of2 1 o3 Fo% A3

19 10Va 10V 7|E Mo =

20 AOV Xorofz 1 =2 z2 =n= DU E
21 GNDa ofgza agtec

22 AOC M2 oz 53 52 M DU
1 cM1 /O 1ztec

3 P24 24V B M

15 D11 SLECER MU oS

16 DI2 CixE 9/ 2 e oIS

17 DI3 CIXE 8 3 Qe X

18 D14 CIxlE 2 4 % 2lA

12 cM1 /O 1ztec

13 PLC CXlE e BE o

14 P24 24V Hx Mel

4 IS SEREE CHEr 0

5 DI6 CIX|E 92 6 Chora 1

6 DI7 CIxE 22 7 wm1/m2 M
7 I8 CixiE 92 8 ELE

2 DO o= maE =2 READY

R3 ROL NC

J EE Y

R2 RO2 CM RUN

R1 RO1 NO 1 =8

F3 RO2 NC

J EE Y

F2 RO2 CM e FAULT

F1 RO2 NO — =7

B 485(+) A2l S (+) MODBUS-RTU

A 485() EEEE

RJ45 (ETH) Ethernet PC Tool
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1% 168 E{O|'E HiX|

Hlof HZo 2ot 7|= HO|H
H17B2ZI/ORE
T EHR7 |2 7|5 AR
= | o L1, L2, L3 34 220/440V = CHXL
3 | =™ R+,R- s M o4 FR1 ~ FR4
2 DC-, DC+ DC 917 Cthxt =y
U Vv, w 34 2207440V = THXG
H 21340| RO1 NO/CM/NC 7l MX[E€  Normal Open / Common / | 230VAC/30VDC
= | & RO2 NO/CM/NC EZg Normal Close 2A
3 | EXZFY | P24 (3, 14) 24V HE M (+) 24V £ 10%
2 CM1 (1, 12) 24V EX M (-) Max. 150mA
Clx e DI1 (15), DI2 (16) CM1 - PLC (&EHI M &, & &9
k= DI3 (17), D14 (18) DA EFY
DI5 (4), DI6 (5) PLC — P24 (& EH} K| Z) : A3 E}S
DI7 (6), DI8 (7)
CIX[E | DO@) Open Collector =3 x| & ~30VDC
= Max. 10mA
CIX & PLC (13) CIXE M3 S& T
e
OfZ 21 | +10Va(8), +10V Ot 2 MY M= Max. 100mA
e -10Va(19), Otz gL
GNDa (10,21)
Ot 21 | AlV (9) HMeF oA -10 ~ +10V
= AIC (11) M= oUH (0) 4 ~ 20mA
OfZ21 | AOV (20) et =9 0 ~ +10V
== AOC (22) HE =5 (0) 4 ~ 20mA
S 485- (A), 485+ (B) | 485 E4I
RJ45 (ETH) Ethernet Sl
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179. O2: HMI 7|HE (&0 T{Y & 124D C|AZ0])

i Hyundai Inverter Monitoring System B

HIMS File Edit View Drive Tools Help AHYUNDAI ELECTRIC

Parameter Browser (3 | Monitoring [ | Fault diagnostics () | Recorder () | UserSetof) |
Go Online o Offine 2Eek === 0 3 OB ROMF Loaddetats search Q
3.13. MotorlimitSe | [ Index D VariableText Value Min Default Max  Unit Explanation ~
4 3.1.4. OpenLoopset
3141 Openlo ||2312 124 MotorPreheat OFF_PH N/A OFF_PH N/A Monitor_..
3142 Iftatt | : 3
3143, Sabiag 2313. 125  TorqueReference 000 000 000 000 % Monitor....
3.2. StartstopSetup 24.100)
433, References
33.1. FrequencyRef. ||241. 127 DIN1234 0 0 0 0 Monitor..
3.3.2. TorqueReferer
33.3. TorqueContro | {242 128 DIN567.38 0 [ 0 0 Monitor...
3.3.4. PresetFrequer = =
335 MotorPotentis | [ izl e Monitor...
3.36. JoystickContri |54 5 130 Analoglnputt 001 0.00 0.00 0.00 % Monitor....
3.37. JoggingPara
4 3.4, RampsAndBrakesSe ||2.45. 131 Analoginput2 -0.00 0.00 0.00 0.00 % Monitor_.
3.4.1. RampsParame
342, BrakesParame | |246. 132 AnalogOutputl 000 000 000 000 % Monitor...
4 35.10Configuration )
D 247. 133 AnalogOutput2 000 000 000 000 % Monitor....
Cont 4352 itori
Motor direction 3.5.2.1. Analogli & b
Offline 3522. Analogl | |251 135 Temperaturelnputl 0.00 0.00 0.00 0.00 = Monitor._
Recorder 3:5.2.3. Analogh
Ready 3524, Analogh ||252. 136 Temperaturelnput 000 000 000 000 ‘C Monitor..
Fault 3.5.2:5. Analogh = )
o 3526, Anslogli | |253 137 Temperaturelnput3 000 000 000 000 C  Monitor_...
un
e 43 5.5,503‘9;‘3’2‘3“1‘9“‘ 254. 138 Temperaturelnputd 0.00 0.00 0.00 000 c Monitor....
3.532.R02 255. 139 TemperaturelnputS 0.00 0.00 0.00 0.00 c Monitor_.
3533.D01
4 354 AnalogOutpu | |25.6. 140 Temperaturelnputs 000 000 000 000 ‘C Monitor...
3541 A01
PC Control 3542 A02 256. ExtrasAndAdvanced (12)
36 FeldousDataMappli N} o 142 DriveStatusword 33 0 0 0 Monitor...
3.7. ProhibitFrequencies
3.8. Supervisions 262. 143 ReadyStatus. 127 0 0 0 Monitor_.
4 3.9, Protections
3.9.1. GeneralProtec | |2.63. 144 Applicationstatusword 17155 [ o 0 Monitor....
3.92. MotorTherma
393, MotorstallPrc _ | [264. 145 ApplicationStatusword2 1 0 [ 0 Monitor....
R P S | P 146 D 0 0 0 o Monitor_.. ~

40. O 3: HIMS(HCH QIHE 2t2| A|AR) AZEQ0] &
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SES

HIMSE 0|83l 2IHE HAO YHOIE Z2NAE AXE 5= AFLIC

SES
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A s M
BACK = Ml L C X = It M
RESET F = 747)/2|A He FIZ2 7t7, HE B8, 2E 2|4
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C4-0Otz21 28 273 5t Ml

IX ID 0|& 712 el x| & |y

c41 377 AIC Al MEH AIN_PortAl - 0 19
22| OfHED U3 4 T LS AIC =2 OtHZ1 Y3 M2 L gL
0| MEH (0) AIN_PortAl (1) AIN_PortA2 (2)
AIN_Port01 (10) = 10 % AIN_Port02 (11) = 20 %
AIN_Port03 (12) = 30 % AIN_Port04 (13) = 40 %
AIN_Port05 (14) = 50 % AIN_Port06 (15) = 60 %
AIN_Port07 (16) = 70 % AIN_Port08 (17) = 80 %
AIN_Port09 (18) = 90 % AIN_Port10 (19) = 100 %

C4.2 378 AIC M ZE AlZE 0.10 x= 0.00 300.00
=2| Ot 21 YUY A Mot Suf TH AlZh o=

Cc4.3 379 AIC Mz e 0.00 % 0.00 100.00
HAeQ0mMA) HiEE2 LIEIH Ot 21 Ao HR|o| AS4t

C4.4 380 AIC AFEXF K| H X2 0.00 % -160.00 160.00
AREAE X el =4 27, o, 20% = 4-20mA

C4.5 381 AIC AFE X} K| x| CH 100.00 % -160.00 160.00
AREAE X e Eof 2.

CA4.6 387 AIC M Hzt H A (0) = 0 1
g (0)
M2k (1)

ca.7 388 AV Al MEH AIN_PortA2 - 0 19
=2/ OFd21 U8 Mz FSILHE AV =2| Of221 9 Moz SEefLC}
0| MEH (0) AIN_PortAl (1) AIN_PortA2 (2)
AIN_Port01 (10) = 10 % AIN_Port02 (11) = 20 %
AIN_Port03 (12) = 30 % AIN_Port04 (13) = 40 %
AIN_Port05 (14) = 50 % AIN_Port06 (15) = 60 %
AIN_Port07 (16) = 70 % AIN_Port08 (17) = 80 %
AIN_Port09 (18) = 90 % AIN_Port10 (19) = 100 %

C4.8 389 AlV M ZE AlZt 0.10 = 0.00 300.00
=2| Ot 21 U 4 XMFO Sut HH Al &=

c4.9 390 AlV Az HQ 0.00 % 0.00 100.00
BAG(0V) MEE2 LIEIH Ot2 21 M HRo| AS4t

C4.10 391 AlV AFEXF X EF| A 0.00 % -160.00 160.00
AR X e x| A 27, o, 20% = 2-10V

C4.11. 392 AV AFE X} X|H #|CH 100.00 % -160.00 160.00
AERE X1 el = 2.

C4.12 398 AlV M Bzt A (0) = 0 1
g (0)
B2k (1)
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2H 5 MO (29)
AlZERHE 1 (31)

Mel 2 e
ZE| 2 H 0] (26)
2E 6 Ao (30)
AlZERE 2 (32)

D (24)
2 3 Mo (27)

AlZH R 3 (33)

21 (D) =2 (2) gt 1y )
2 &F ) AL (6) £k (7)
2H 2220/ &d=t (9) AlE A= 2d3t (10)
) 10 B X|0f 2d3s} (12) oA EAIT (13)
S 2E 2dst (15 =4 gzt (16)
55 XA 293t (18) PID 28 ZE (19
PID I =8 ZrA| oA (21) Q| F PID Al A (22)

2H 4 JOo (28)

FB X|0{2/ = B13(34) FB X|0{ = B14(35) FB HM|O{R = B15(36)
FB == M|A [JOJE{ 1 BO (37) FB =ZM|A OH|0|E 1 B1(38) FB X A|A [|O|E 1 B2 (39)

FAIES L8 40  RAES 12F @D

7IAA 2efo[3 7HE 22|02 BF (42) 7|AA 2ejo]3 #Hat (43)

XtEb1(44)  XpE2(45)  Afth3(46)  AEH4 (47)  KHERS (48)

XHGH6 (49)  AFEH7 (500 AFER8 (51) AFER9 (52)  AFEE 10 (53)

SY HIZ A (54) Als BE HA (55) s E4 gdst (56)

2E 29X 7S (57) A Al €5 (58) 2E 0 E 2dst (59)
C.6.2 11002 RO 1 $HA| S&} 0.00 = 0.00 320.00
C6.3 11003 RO 1 #A| S% 0.00 = 0.00 320.00
C6.4 11004 RO2 7|5 st TE (3) - 0 59

el 0) CHZ1 (1) 24 () E LRSS E)

2t qug @) ag 2 () QL ©) 52 (7)

MOJAE 1F (8) 2E 2208 gt (9 Als d= gt (10)

7|IHE Mof gdgst (11) 10 B 0] g-d2} (12) oA aAl 1 (13)

SHA G Al 2 (14 Siif 2E gzt (15) x4 2gst (16)

Lot £5 2gst (17) =% 8K 2det (18) PID &8 2ZE (19)

PID 2ZE & 293t (20) PID mj= ZA| oA (21) Q5 PID Al oA (22)

2 oY 2y 1Y 23) Mel BE= 2E 0F (24)

2E 1 MO (25) 2E 2 HO (26) 2E} 3 Hof 27) 2E 4 X0 (28)

2H 5 MY (29)
AZERE 1 (31)
FB H|0{S = B13(34)

2Ef 6 H0f (30)
AlZExE 2 32)
FB | 012/ = B14(35)

AlZExE 3 (33)
FB | 0] = B15(36)

FB T2 A A CJOE{ 1 BO (37) FB A A HO[E| 1 B1 (38) FB T2 A A OO|E 1 B2 (39)

QX =4 A2 (40

[EES F @)
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IX ID 0| & 7|23 T x| & Z|tH

7|AA 20|32 JHg 2e0]3 FFE (42) 7|AA 20|23 Het (43)

XtTh1 (44)  ApGH2 (45)  KRTH3(46)  KTH4 (47)  KEHS (48)

XHEH6 (49)  APEH7 (500 ARS8 (51) KRR 9 (52)  AFEH10 (53)

S EHE HA (G4) Als BE HA (55) s 8 gt (56)

2E 2K WY (57) Al Al E5 (58) 2E O E 2dst (59)
C.6.5 11005 RO 2 $HA| S%¢ 0.00 = 0.00 320.00
C.6.6 11006 RO 2 #A| 5% 0.00 = 0.00 320.00
C.6.7 11007 DO 1 7|5 cho| - 0 59

gls 0 CHZ1 (1) 24 () RS E)

gt 40y @) 28 2 () QL ©) S22 (7)

MOJAE 1F (8) 2E 222 0lH 2dat (9 A& A= 2t (10)

7|HE MO Zd=t (11) 10 B 0] gdz} (12) oA Al 1 (13)

A G Al 2 (14 SiM RE gds} (15) =g &gzt (16)

Chets £= gdst (17) =% 81X 2det (18) PID &8 2E (19)

PID AZE T 243} (20) PID I =&l ZHA| & (21) Q|5 PID ZHA| BHA (22)

2 oY 2y 0¥ (23) Mel = 28 1F (24)

2E 1 H o] (25) 2Ef 2 H 0] (26) DE 3 ®of (27 2E{ 4 Fof (28

2E 5 A0 (29) ZEf 6 H0] (30)

AlZExE 13D AlZER'E 2 (32) AlZHRHE 3 (33)

FB X O{Q/= B13(34) FB M|O{Q|= B14(35) FB H|0{Y = B15(36)

FB =2 A HO|E 1 B0 (37) FB ZZAMA OB 1B1(38) FB ZZA|A H|O|E 1 B2 (39)

AR LE 40)  FAEs 02T @D

7|AA 20|34y 20|32 BFE (42) 7|AA 2efo]3 Het (43)

XtTH1 (44)  AFEH2 (45) K}TE3 (46) KR4 (47)  XEHS (48)

XtEH6 (49)  AFEH7 (50)  AFEE 8 (51) X}Ef 9(52)  AFEH10 (53)

S EHZ XA (54) Als BEZ HA G s Ea 2dst (56)

2E 29X WY (57) A Al 5 (58> 2E O gdat (59)
C.6.8 3084 DO 1 $HA| S& 0.00 = 0.00 320.00
C.6.9 3085 DO 1 #=A| 5% 0.00 = 0.00 320.00
108. #: 7|2 C|X|&/2e0] 23 2% %l 7 25
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Cll-7|2 otz =8 dH o1 Ol

IX ID 0|& 712 T 2 Z|cH

C.11.1 10050 | AOC 7|5 =g =04 (2) - 0 31
FAI™E (0) HAA (1)
=Y FIob (2) [0-fyax] 7|% FIb== (3) [0-fuax
2 £ (4) [0-2H §4 £&] Y MR 6) [0-2H ZH TF]
2H E3 (6) [0-2H 4 E3] 2H 7&1% (7) [0-2H Z4 HE]
2E ME 8 [0-2H 4 Tl DC 232 T (9) [0-1000V]
PID &% Zt (10) [0-100%)] PID L|EZ&# (11) [0-100%]
PID &2 (12) [0-100%] Q& PID =3 (13) [0-100%]
TICHA T2 AN A HO|E 2 1 (14) [0-100%]
TCHA T2 A A HO|E 2 2 (15) [0-100%]
TCHA T2 A A HO|E 2 3 (16) [0-100%]
TCHA T2 AN A HO|E 2 4 (17) [0-100%]
TCHA T2 A A HO|E 2 5 (18) [0-100%]
TCHA T2 M A HO|E 22 6 (19) [0-100%]
TCHA T2 A A HO|E 2 7 (20) [0-100%]
TCHA T2 AN A HO|E 2 8 (21) [0-100%]
XFEF 1 (22) [0-100%]  KFEF 2 (23) [0-100%]  KHEF 3 (24) [0-100%]  AtEH 4 (25) [0-100%)
X}EH 5 (26) [0-100%]  XFEF 6 (27) [0-100%]  KHEE 7 (28) [0-100%]  AtEH 8 (29) [0-100%)
XFEH 9 (30) [0-100%]  XtEF 10 (31) [0-100%)

C.11.2 10051 | AOC ZE A|Zt 1.00 S 0.00 300
ELERS=-AY)

C.11.3 10052 | AOC %4 0 % 0.00 100.00
HAUROmMA) MiZs=2 LIEIH OFd 2T Mo o A|SZt

C.114 10053 | AOC XA AH Y 0.00 7hH 7hH 7heH
T2 M ofE B, 22 8 Z|0Y

C.11.5 10054 | AOC %|Cf A Y 0.00 74t 74 74
T2 M ofE B, 2|2 8 Z|0Y

C.11.6 3086 AOV 7|5 =2 =0t (2) - 0 31
AOC 7/&30t s

C.11.7 3087 AOV ZE{ A|Zt 1.00 = 0.00 300
ZEE 8= (0)

C.11.8 3088 AQV Z|& 0.00 % 0.00 100.00
ZAUA0V) HEE2 LIEIH Ot2 27 M HRo| AS4t

C.11.9 3089 AOV %A A Y 0.00 74t 74 7heH
TN ofE B, 2 8 E|0Y

C.11.10 | 3090 AOV %|CH AH Y 0.00 7hH 7heH 7heH
T2 M ol FE Bhef, &4 8L Z|0h

109. H: 7|2 o} 2 1] =3 MM 319 0 =

144




C20 - €EEHA H|O|F MEH! 51| O &

= =
C.20.1 852 u'CI:HA HOole &% =8 Fot (1) - 0 3500
1 A-l EH
metolE D7) s HEHA e 2UEE EUE o[BS d™SLCH HolH A7 22
Mjof I Zoll A =B80f Mhef 16H|E f 5= ZWHO= ZFLLCL 0|F S0, CIAZ20]
§9[ 25.5= 2559 LA[LICL O S0f, =5 FLts=0f Lot 2t 25002 A7 L0l
0.010|22 25.00Hzt SX|fLCH 41 ZLEY OF YEHOM = 5 Us 2= ZHEHT
w2 58 Y22 Fo|YL O
C.20.2 853 ZEWA oY &4 B £k (2) - 0 3500
2 M=
otetolE ID7F Rl ZEMA OO S35 dEg L
C.20.3 854 ZLCHA MOl & 0H M3 (3) - 0 3500
3 dE
matolE D7) = HEHA HO|H S35 Mgt .
C.20.4 855 LCHA GO £8 | 2H E3 4) - 0 3500
4 M
matolE D7) = HEHA HO|H S35 d=etLCt
C.20.5 856 ZLCHA MOl & DE £ (5 - 0 3500
5 M=
otetolE ID7F Rl ZEMA OO S35 dEg L
C.20.6 857 ZEHA HOolH &9 DE e (6) - 0 3500
6 =
matolE D7) = HEHA HOH S35 =L Ct
C.20.7 858 LCHA GO|E £3 | DC 23 FMe (7) - 0 3500
7 A=
ItetolE ID7F Rl ZEMA OO S35 dEg L.
C.20.8 859 ZEHA HOolH &9 £ Pl B e S g = - 0 3500
8 M= (37)
otetolE| ID7} = ZEHMA HO|H S35 HEigL T}
110. #: FEHA H|O|E| MEY 319 HlF S5

C.21 — RS-485 QU MM(ZZ EZ MEH) 519 0|
Z

HA
C211 3103 T=ZEE D EHA RTU (0) =
D EHA RTU (0)
111. #: RS-485 2t @Y (Z2EZ M) 57 M &5
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C22- ZEHAL-1: TEHA RTU AN & BLHZ 519 M
IX ID o|& 712% chl EJE E[u|
C.22.1 3166 | 230lE Z=A 1 - 1 247
1F Eg0l8 HA| FA
C.22.2 3167 | 2 HO|E 9600 (6) g 1 9
M &
300 (1)
600 (2)
1200 (3)
2400 (4)
4800 (5)
9600 (6)
19200 (7)
38400 (8)
57600 (9)
C.22.3 3168 | IZ|E| &Y %= 0) - 0 2
%= 0
20
= (2)
C.22.4 3169 | MX| H|E 1 H|E 0 1
C.22.5 3104 | EAl EFY0OIR 0 e 0 65535
AZ oM Al ZEHA EE= &4 QFE X7|stgtL|Ct §4 EFYJorR rEHJIHh
S2t0[HEO|N B2 TY7|X| 7t %] X[HS Fo|gtL|Ct Efo|He 2[4lL|0 2 H?IXI
=4l F ASELUL o] mteto|E & E20|UET FIHo R 80|28 E e &
AMEE = ASLICH
OjAHE (0)
C.22.6 3105 | ZEHA ZTZEZE AMEY 0 - 0 3
LEA DT2EE MR ZREZO| HEE ¥ = JASLIC
x7|3} (0) = ZREZ0| A|ZtgtL|C}
X (1) = Z2EZ0| O|8E|X| LAHL} EtYUOFR HEfALIC.
Mel (2) = ZRZEZO0| A FLICH.
1 (3) = ZEEZ0| SCHS nF0| LM xHA|ZrsoF gLt
C.22.15 3114 | §ojYE 0 - 0 FFFFFFFF h
E2to|2 of Z2|AHO| MO A =413 2|2 MOf Y E(THOHAL AP ZBH). (CHE FX o=
o8& = UA&L|Ct)
C.22.16 3115 | AlEfYIE 0 - 0 FFFFFFFF h
E2tol O E2|AH 0| MOl M =4lT X2 AEf S (BHONRE AP ZBY). (| SXo =
o8& = UA&L|Ct)
112. : ECHAL1-1: IEHA RTU A & L EZ 519 HlF
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IX ID ol 7|23 gl Ha A
C.25.1 3116 IPEA BE DHCP (0) - 0 1
DHCP ZEEE0| AISCZ IP FAE ZZ HEQIE 45l MER X2 et L}
AHE SEE P RAL UH 7|7H SO Q@ LICH DHCP ME{7} LZE|X| 200 xS A E
P7} SHEHEILICEL DA P FAL 502 XHE|H AIZH0| X|LLE #31A| ¢4 LI
DHCP (0)
2% (1)
C.25.2 3117 O™ IP =4 74 - 0.0.0.0 255.255.255.255
P Eas QIE|SI0| HAE X0 DQS AHO| X} (P9t Z2)E TAE LT
C.25.3 3118 I8 MEU OA3 7+ - 0.0.0.0 255.255.255.255
HEQT ObATE P a0 BE HES EASIO HEYA U MEUS AL
C.25.4 3119 | 1A 7|2 A 0|E0| 7hed - 0.0.00 | 255.255255.255
HEQT A P 40| BE HES EASI0 HEYA O MEUS AT
C.25.5 3120 IP =4 74 - 0.0.0.0 255.255.255.255
P At QIE|SI0| HAE X0 DR AHO| X} (P9t Z2)E TAE LT
C.25.6 3121 Meu OA3 7-H - 0.0.0.0 255.255.255.255
HEQA ObATE P a0 BE HES EASIO HEYA 9 MEUS AYSLC
C.25.7 3122 7|2 AHO|E<O| 7-H - 0.0.0.0 255.255.255.255
YEYA DA P Fa0 BE HES EAS HEYA U MEUS Yo
C.25.8 3123 MAC =24 74 - - =

KOl 20| MAC F4. MAC 4 (D§ H2 &0 2 YEYA SAE0 Fo{7 1Qs
Fag £H0| 2IpeLC

113. H: Ethernet Yl MM (T2 EZ MEH) 3}9| 0|+ =

C26 - HEHA2-1: TEHA TCP ot M+

= %
C.26.1 3124 A4 sHA 3 - 0 3
58 A4 = MHO| SA0| &S = A= S2H0|HE =5 FolgtL|C}
C.26.2 3125 EHX| A YR s 1 0 255
DEHA AE2IE 2tRloAM =2 AESHE ZEHA 'S80|8 A" EE= Y HIOIE

C.26.3 3126 S Al EfQlor
AZ Sf M Al REHA HE= 4 RS Z7|9tg L.
SCIO|AENM &2 7K ZF |2 X HS Felgd

4l £ ASELICE o] otef0jE= 220|AUETL I He =
AEE =+ AFLICH

OJALE (0)
C.26.4 3127 | WEHA ZZRE

o
om | Bt
(@]
()]
(0a]
(Oa]
w
(Oa]

MH

AFEH 0 = 0 3
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IX ID 0| & 7|2 Tl x| & =
LEHA ZZEZS YHZ Z2EZO HHE € = ASLH
X718} (0) = ZREZ0| A[HFLC
A (1) = Z2EZ0| O|&&[X| BAHLt EFHOFR HE{ &ILICE
Y Q) =Z2EZO| ¥ YL
1Y (3) = Z2EZ0| SIS DHO| B3 MAIZBHOF FLIC.

C.26.13 3136 | Mo{9E 0 - 0 FFFFFFFF h
C2to|2 Of 2| A0 M0 A S=4lsh 22 X0 =R E(ROIRF ALY (C1H Y
=Hoz 0|8E = AFLILH)

C.26.14 3137 | AMEfQIE 0 - 0 FFFFFFFF h
C2to|2 i 2| A0 M0 A S=4loh 2|2 HEHRI SR E(ROIRF ALY (C1H Y
EI—IQE 0|REI _J'\_ OI¢|_| |:|..

114. #: YEM22-1 §5: HEHA TCP 9| Ml
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Jd= H- 2H nof2fojgy 1%
H1-52H o AN

4 S
H.1.1 650 DE 8% QE ME7|(0) - 0 0
| ™S7] (0)
H.1.2 116 DH 34 ™MH 7+ 7HH 7He 7t
= U =R 8l 7|2t
H.1.3 110 DE M et 7}t \Y; 7 i
o e M7HHY H % V=24
H.1.4 111 QE MZ Ot 7heH Hz 8.00 320.00
=7t0f| 2 7|24k
H.1.5 112 DE MA &L 7}t rpm 24 19200
= E 7|23k
H.1.6 113 DE HA M2 7ht A 0.1IHD 2IHD
=y E 7|25k
H.1.7 120 QE Mz X3 olx} 7hH - 0.30 1.00
=y E 7|28
115. %: 2F HE 4 o9 ol &5
H.3 - @ EE LY m}tzto|E(IM)
IX ID o|& 7| 2% CHe x| & Z|CH
631 RERY =4 w= - 0 2
RQERUYO| X522 HZE REQO| metd|HE F- L Lt
H.3.1 S els 0
X AEf (1)
2™ HE (2)
132 612 A3 M2 s A 0.00 2 Lp
DHO ERY Xzt MF
3174 R1 - Ohm - -
H.3.3
DHOo 2EEY THAX Mt
3175 R2 - Ohm - -
H.3.4
ZHO @ERY [T XY
3197 Ls - H £ =
H.3.5
DHO QERY ™K AEHHA,
3198 Lu - H - -
H.3.7
DHO RERY Xzt QIEEHA
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S

et 208~240V
1211 ZM Y 208~240V, 50~60Hz, 340 Z2, HiD500 A|2|= &z T2

37 32 41 26 24 39 5.2 0.55 0.37

o
N

RN

7
H
=
T
H

0003-2 0.75 0.5
0004-2 | 4.8 4.2 53 3.7 3.2 5.6 74 0.75 0.55 1.0 0.75
0007-2 | 6.6 6.0 73 48 45 72 9.6 11 0.75 15 10
FR1
0008-2 8 7.2 8.8 6.6 6.0 9.9 13.2 15 11 2.0 15
0011-2 11 9.7 12.1 8 7.2 12.0 16.0 2.2 15 3.0 2.0
0012-2 [125 | 109 13.8 9.6 8.6 144 19.2 3.0 2.2 4.0 3.0
0018-2 18 16.1 19.8 125 115 18.8 25.0 4.0 3.0 5.0 4.0
FR2 0025-2 25 217 27.5 18 16.1 27.0 36.0 55 4.0 7.5 5.0
0031-2 31 27.7 341 25 225 375 50.0 7.5 55 10.0 7.5
0048-2 48 43.8 52.8 31 285 46.5 62.0 11.0 7.5 15.0 10.0
FR3

0062-2 62 57.0 68.2 48 44.2 72.0 96.0 15.0 11.0 20.0 15.0

0075-2 75 69 825 62 57.0 93.0 124.0 18.5 15.0 25.0 20.0

FR4 0088-2 88 82 96.8 75 70.0 1125 150.0 220 18.5 30.0 25.0

0116-2 | 116 99 1276 88 821 1320 176.0 30.0 220 40.0 30.0

0146-2 | 146 135 160.6 116 109.0 174.0 2320 37.0 30.0 50.0 40.0

FR5 0170-2 | 170 162 187.0 146 133.0 219.0 292.0 45.0 37.0 60.0 50.0

0220-2 | 220 215 2420 170 163.0 | 255.0 340.0 55.0 45.0 75.0 60.0

0261-2 | 261 253 12871 | 220 2100 | 330.0 | 4400 75.0 55.0 100.0 75.0

FR6
0310-2 | 310 301 [3410 | 261 2460 [ 3915 522.0 90.0 75.0 125.0 100.0
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hoolE

=0 2|ZEL} YAX|T}

As

B 1222 FHY 380~500V, 50~60Hz, 342| AL, HiD500 A[2|= HH M

235 2E AZE £
cajo|e #est SEl FHE 400V FHgl 480 V

. = = &
g R g R = ¥ e e =##T ®HT
R R Rr fir R S YR Y g R
sl 8 ol R 2 2
0002-5 2,6 2,6 29 18 19 2,7 3,6 0,75 0,55 10 0,75
0003-5 34 34 3,7 2,6 2,8 39 52 11 0,75 15 10
0004-5 48 4,6 53 34 34 51 6,8 15 11 2,0 15
FR1 0006-5 6 54 6,6 4,8 4,2 7,2 9,6 2,2 15 30 2,0
0008-5 8 81 8,8 6 6,0 9,0 12,0 3,0 2,2 4,0 3,0
0009-5 9,6 9,3 10,6 8 81 12,0 16,0 4,0 30 50 40
0012-5 12,2 113 | 134 9,6 9,3 14,4 19,2 55 4,0 7.5 50
0016-5 16,3 154 | 179 12,2 12,4 18,3 24,4 7,5 55 10,0 7.5
FR2 0023-5 23,2 21,3 | 25,5 16,3 154 24,5 32,6 11,0 7.5 15,0 10,0
0031-5 31 284 | 34,1 23,2 21,6 34,8 46,4 15,0 11,0 20,0 15,0
0038-5 38 36,7 | 41,8 31 30,5 46,5 62,0 18,5 15,0 25,0 20,0
FR3 0046-5 46 43,6 | 50,6 38 36,7 57,0 76,0 22,0 18,5 30,0 25,0
0061-5 61 58 67,1 46 45,6 69,0 92,0 30,0 22,0 40,0 30,0
0074-5 74,5 68 82,0 61 58,2 91,5 122,0 37,0 30,0 50,0 40,0
FR4 0090-5 90,3 85 99,3 74,5 72,0 111,8 149,0 45,0 37,0 60,0 50,0
0106-5 106,7 |101 [1174 90,3 85,3 135,5 180,6 55,0 45,0 75,0 60,0
0152-5 152 140 |167,2 | 106,7 109,0 160,1 2134 75,0 55,0 100,0 75,0
FR5 0170-5 170 167 |187,0 152 1394 228,0 304,0 90,0 75,0 125,0 100,0
0223-5 223 217 | 2453 170 166,5 255,0 340,0 [110,0 90,0 150,0 125,0
0264-5 264 258 12904 223 204,0 3345 446,0 |132,0 110,0 200,0 150,0
RO 0310-5 310 303 |3410 254 246,0 381,0 508,0 ]160,0 132,0 250,0 200,0
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